20204E1 A 5> X HNER

1R9H E = 3000 IZARERZNISTHMERHERER)
1R10H E =1 4100 HIHZANVSTESGRFERILE(ER)
1B 120 o 4000 ié)ﬁrﬂll*ﬂ-ﬂllﬂ%s FRREIOYY SRFERILE (BIE
18148 EE =1 3,000 flEkith s BE KRG AR ERBESTERILE ER)
18148 E =1 3,500 FIEH X LEKER BRI ERLR BIER)
1A15H LI 4167 FEAREY. #BiRY. B FRYKEEEEAR
1R16R =& 3,000 HITEFREXHEHERILE BIER)
18168 . 10,000 ﬁzgﬁggﬁégi?ﬁiﬁu) chERERIER-EE -1
1R17H E - 4,000 fIERTESHTNSHFERLR (BIER)
1R17H =% 5000 FIEHEE#HREESESSHFERME EIER)
1R17H RE 10,000 THER#EE FEFTH
1R19H E - 6,000 FEFSHFR (EBR)
1A31H E = 10,000 #iEME<ICSEEOL S REBH = (BIFER)

1AS &5 69,767




